
2015 Year End Examination - Grade 06  - English  - Answer Paper 

01 (1) bicycle (2) neighbours  (3) vegetables  (4) difficult

 (5) wonderful (6) prepare (7) dinner (8) sweetmeat 

 (9) daughter (10) picture (½ x 10 = 05)

02 (1) d (2) b (3) e (4) c (5) a (1 x 5 = 05)

03 (1) on (2) at (3) in (4) at (5) in (6) in (7) in

 (8) on (9) in (10) in (½ x 10 = 05)

04 (1) getup  (2) makes (3) wakes (4) worship (5) offers

 (6) peel  (7) scrape (8) walk  (9) studies (10) recite

 (1 x 10 = 10)

05 Each grammatically correct sentence carries one mark. (2 x 5 = 10)

06 (1) happily (2) slowly (3) kindly (4) badly  (5) sadly

 (1 x 5 = 05)

07 Each correct answer carries (03 marks) (3 x 5 = 15)

08 (1) In the Arctic Land. (2) Igloos (3) blocks of frozen snow

 (4) bear, rein deer, walrus  (5) It is too cold to hunt  (1 x 5 = 05)

09 Each grammatically correct sentence carries 2 marks. (2 x 5 = 10)

10 (1) Nimal bought an apple and an orange.

 (2) Mother locked the door and sat down.

 (3) The farmer and his son till the soil.

 (4) He learns dancing, music and English.

 (5) Ravi bought a book and a pen. (2 x 5 = 10)

11 (1) to (2) circus  (3) interesting  (4) dressed

 (5) trousers (6) rode  (7) tiny  (8) Growling (9) hoops

 (10) a (1 x 10 = 10)

12 Content -03 marks     Language - 03 marks    Mechanics of writing - 02 marks

 Organization - 02 marks
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